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Instructions : All questions are compulsory.

(ii) T hHH 1 ¥ 20 Th o e U W 1 3k Fifa § 1 STt Aferpad
IS 20 9T ¥ |
In Question Nos. 1 to 20, each question carries 1 mark. Maximum

word-limit of answer is 20 words.

(iii) T9 ShHTH 21 9 23 T & TAF T R 2 ek (uifa € 1 SR 1 afersham
Ie5-HHT 30 93 ¥ |
In Question Nos. 21 to 23, each question carries 2 marks. Maximum

word-limit of answer 1s 30 words.

(iv) W A 24 9 27 T & TS T W 4 i Fuifa € | S T eAfeerad
Yee-THT 75 I ¥ |
In Question Nos. 24 to 27, each question carries 4 marks. Maximum

word-limit of answer 1s 75 words.
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(v) U A 28 ¥ 31 Th o Yo ¥ W 5 37k Feifia € 1 St stferepad
IEE-HHT 7150 W] 7, T T v TeRm o fod W eenfa 7
In Question Nos. 28 to 31, each question carries 5 marks. Maximum
word-limit of answer is /50 words, in which one question is based on

Map and Picture.

(vi) W% ShHIH 32 ¥ 34 T & T T W 6 i Fuifia § | ST 1 eiferemay
Iee-THT 200 95 ¥ |
In Question Nos. 32 to 34, each question carries 6 marks. Maximum

word-limit of answer is 200 words.

(vii) T¥ ShHTH 28 ¥ 34 T Gt T¥Hl B e fashey fouw mw € )

Question Nos. 28 to 34 have internal options.

Afery, ST qgA-1 [1x20=20]

Very short answer type questions-I

YIT-1

YIT-2

YIT-3

T9-4

UI-5

YIT-6

wI-7

Il Gehe hel Sca— g1 ? [1]
When did the Cuba Crisis happen?

R o ST Gy fhg g A § 2 [1]

The Star Wars Program is related to which country?

& 1 Jx1 1 AW fafEn | [1]
Write the name of currency of Russia.

USSR =1 QU 9 farf@u | [1]
Write the full form of USSR.

TR TR 2 [1]
What is Hegemony?

ISRt Rl Tl el IT s 7 [1]

When did Pakistan get Independence?

Teh (S&H) I T3 hel g1 ? [1]
When was the SAARC formed?
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UI-8

YI1-9

Y91-10

WIT-11

TIT-12

YI1-13

UI1-14

YI1-15

YI-16

Y91-17

Y91-18

[3]
IRT = GO LT TH&T07 e TR ?

When was second atomic test done by India?

HRT (SAFTA) =1 QU M faf@a |
Write the full form of SAFTA.

AR T YA el 8d T ?
Where is the headquarters of UNESCO?

‘frtenfaerR’ (ST UeR) feham TSl =l U ® 2

How many countries have ‘Veto Power’?

T gealt e e H foha <@l o gfafafe=i 3w foren ?

How many countries participated in the Rio Earth Summit?

1947 H STH-HYHIT I YHH T o1 2

Who was the ruler of Jammu-Kashmir in 1947?

URd H SSRIhL0T skl ifd el T9ATE T8 ?

When was the Policy of Liberalization adopted in India?

Hfq ST % sTeAE i B 2
Who is the President of Niti Aayog?

<o ST AT el gl ?

When was the Fourth General Election happened?

1965 % q§ & THI YRA & GEHHAT i 9 ?
Who was the Prime Minister of India during the War of 1965?

HE H a1 b’ TRy el ST o ?

Who was known as ‘Young Turk’ in Congress?

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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yya-19  fava wafero feag e M@ Sar € 2

When is World Environment Day celebrated?

UIA-20 3 Use ol v fohd Wiasra STRETOT o1 Wee © 2

What is the percentage of reservation for Other Backward Classes?

ferery ST wgA-11

Very short answer type questions-11

Y9-21  URA-AFARY & HEA | 9@ faamr! @i fafan |

Write the two main disputes between India and Bangladesh.
Uy-22 Wi e @ © 2 fafen |

What is Stockholm Conference? Write.
q99-23  TR-iHaR | 9 aed § 2

What is the meaning of Non-Congressism?

[GEASLHE RS

Short answer type questions

UyA-24 BN Shifd o a1 YRS SR G ThRIHH TROTHI Hl Seer@ hiTeT |
Describe two positive and two negative results of the Green

Revolution.

Y9I-25 ‘'S STRIe YR @k Sl Gge o § | IHEsy |
“Popular Movements play an important role in strengthening the

Indian democracy.” Explain.

[1]

[1]

[2x3=6]

2]

2]

2]

[4x4=16]

[2+2=4]

[4]

UoT-26 Y- TRUST AT i foRIvA (SYAf@T) T HifST (F1E &) | [1+1+1+1=4]

Describe the specialities of Non-Alignment Movement (any four).

U9A-27  Gifadd €9 o foeed o 9 TE SR ol Icei@ it | [1+1+1+1=4]

Discuss the four main causes of the dissolution of the Soviet Union.
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e S ue [5%4=20]

Long answer type questions

Y91-28

Y91-29

HIUY 9ret fohe T hl Y 1969 H <2 i RN g3 ? [5]

What were the reasons behind the division of Congress Party in 1969?

sTqar

OR

o (o

1967 o 3 TATH % oG & R sl SHTEAT I |

Describe the changes after the General Election of 1967.

RA & HHtes § i faet REmedi & wom fatea st [1+1+1+1+1=5]

(87) ST

(&) iR

(@) ax

(3) Tenfera

(3) =R

In the map of India, mark the princely States as mentioned below :
(a) Junagarh

(b) Manipur

(c) Mysore

(d) Gwalior

(e) Kashmir
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arerar

OR

URA & AR § FAfaRead 9 i geiist .

(87) TSR

()

(%) g

() fmr

(%) afv=m s

In the map of India, mark the following States :

(a) Gujarat

(b) Kerala
(c) Orissa
(d) Bihar

(e) West Bengal
Y9T-30  YRA- TR Ta9E & UiT W@ Y& W TRl eIy | [1+1+1+1+1=5]
Throw light on five main points of dispute between India and America.

sferar
OR

TramTa o7l & H omaftent sl 1 ure fagel § wre sife |
Explain in five points the absolute power enjoyed by America in the

structural economic sector.
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Yya-31 ‘oA’ o1 R AU § 2 Joaret % SIfHeRl o forg T @ g
HIST (RIS FW) | [1+4=5]

What is meant by ‘Native’? Describe the struggles for rights of the

native (any four).

OR

qHTaRel sl e fafa | qafaRer sl el & IRdd JATEl 1 J0i ity
(TS &) |

Write the meaning of Environment. Describe the steps taken by India

for the protection of the environment (any four).

Srfadtd s uos [6x3=18]

Very long answer type questions

UYA-32 YT U 99w bzl ©: STAeHA! ol UM hifelT | [1+1+1+1+1+1=6]

Describe any six achievements of the UNO.

3rerar
OR
Yo T W i fRgl B: fawararsti &1 auia wifs
Describe any six failures of the UNO.
Y9T-33 7SS TR o oY TS Il k1 i hifSe | [3+3=6]

Explain the advantages and disadvantages of a Coalition Government.

NM-36A+ P.T.O.



[8]

a7erar

OR
TSEYA TR o A Y@ &0 fafay T Tese i Tsid § &y
Tl sl fHeRl | ghg o T HRON T AU HIFT |

Write the three major characteristics of a Coalition Government and
explain the three reasons for the rising importance of regional parties

in coalition politics.

U9A-34 YR ! focw Hifd =t ®: faeroarsti o1 Seor@ sifse | [1+1+1+1+1+1=6]

Describe six specialities of India’s Foreign Policy.

37erar
OR
A gRI - TSIl (STHear) i ifd STIH & B: RN Hl Seaid
HifeTy |
Describe six reasons for the adoption of Non-Alignment Policy by

India.
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